EXAM C QUESTIONS OF THE WEEK

S. Broverman, 2006

Week of May 8/06

Y ou are given the following 4-point data set
T: 0 1 2 3
y: 0 0 6 24

Find f'(0) for the natural cubic spline f(x) .

Solution can be found below.



Week of May 8/06 - Solution

mo — M3 — 0

homgo + 2(h0 + hl)m1 + himy = 6[—‘1/2};1“ — yli:()?jo]
= dmy +my = 6[%2 — 0] =36

himi + 2(hi + ha)mg + homs = G[Wh;;/z — %]
—>m1—|—4MQ :6[&1_6 — %] =172

- My = %, mo = % .

Then ag =y =0, by = L% — ho(2motmy) _ 0-0 _ (1)(0+4.8) _

ho 6 1 6
00:%20 ) d():—mlf)-;:)noz%:B.
fo(x) =0—.8(x —0)+ .8(x —0)> = — .8z + .823 .

o
fo(0) =by= — 8.



